1 30-1 -1
T ‘%m‘““sﬁ
o 1
N 1
& N N
o~
= (1 i
fan m
380 2 S
i
250 roCT 14098-91 % =
D
47 30-1
3 25 |}, 3x50=150 [L25 ')
) ) 200
7 T
O. (]
21 R & 2
] 2-2
o| 60 130 60
D [ew)
250 R
/ X
& L 50
Hapka OBO3HAYEHVE HAVMEHOBAHME Kon.| Macca | Tlouve-
C6opHrpic equHUIB]
Cerxa C-1 1 1,090
1 roCT 5781-82% @8 A-lll - L=200 7 10,0791 0,553
2 roCT 5781-82" @8 A-lll L=340 4 10,134 | 0,537
3aknaxsasg gerans 31a-1 664
3 rocT 82-70 Juer 8X38Ox250 1 6.0
b roCT 5781-82* @12 A-lll =180 L 106
2 Mamepuans
g BemoH B15 KUd.M. 0,021
07-14-01- AC 14
% Cmodua| Macco | Macwmad
= Mai. | gonyy, | fimcr N2 pok. fllopnncs Dara
P
‘ ) ‘ Nucm 3 |ANucmob
% Pazpad. Hacuﬁunnuua)émzf 7 i
E ' Onopuas nnura Or-1 "POCIMPOEKT"

GopmaT A4




